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GENERAL INTELLIGENCE

" Directions [1-10] : In questions
oo 1 o 10, select the the reated Iet-
ters fword fnumber fAgure from the
given aternatives.

L ma:wu

u.. SO

®09®

H (2} i3 i}
:..muﬂn:ﬁgm

E@@/ﬁ
NHE

10, odg: 426 - : T45: 7
(1) 475 {2) 726
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Directions [11-18) : Find the
odd number/letters/figure/mumber
pair frorm the given allematives.
1L (1) 2 [2) 9
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3 Hunger : Food ; : Disease ; ?

(1] Weakness

(2} Medicine

[3 Sickness

[} Water
4. Thin« Thick : * Dwarf - 7

{1] Shot {3 Tall

(3) Broad (4) Long
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18. (1) 16-25
i 64 - 81
(3 36 - 449
4 100 =110
18. (1} XV (2] ZW
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Mrections (18] : Which one set
of letiers when sequentially placed at
ﬂi:gapamﬂlcﬁmlﬂtermsl‘ﬁﬂ
comipleéte it 7
BB w_XW_x B8 wa__
(1} moawnc
[2) aammoo
[3) aanmc
. {4} wmawne
Directions [20-24) : A serles |5
Even with one term missing. Chooas

the correct alternative from the ghven
ones that will complete the series.

20, Question Bgurs

B RS

Answer figores

(P IRH ]

AT {1 43
21. AE, FJ, _? . PT

() MN Coauv

(3] HO ¥z
‘2%, BDF, HIL, NFF _7
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33. 9,17, 31, 57. %, 208

(1) 102 (2) 104

(3 107 (4 108
24. Question figures
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28, The average age of three friends
A. B, © ta 20 yeara, The aver-
age age of A and B is 19 years,
Whal is the age of ¢ 7
(1) 20 years
2) 21 vears
(3 22 years
(4} 24 years

28, Arun rung faster than Elias, but
not s fast as Dinesh. Dincsh
runa faster than Chander, but

nEtaEHIaaBlthWhum
[astest 7

(1) Anum (2] Bilram

[3) Chander  {4) Dinesh

&7, In this diagram, 2 total number
“of 100 playera play different

Bmes,
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a8, Cuestien figare 89. If '+ meanis x, = means rl-h;‘
\ ] means '+ and '+ means -, t
Cricket m Footbal . 10+ 5% 10 + 3 - 5 has a value
of
&v& (1) 35 i2) 45
1 (3 20 8
v Directions (40 - 41) : Select the
missaing number i'ram the given al-
Hockey Anwwor figere tarnatives.
How many players play Football T 40. 45 22 69 42 79 26
and Hockey but not Cricket ? e
(1 20 12 25 -
315 5 (L 2} E3) (4 i 7 :

28, Ramu' mother sald to Ramu, "My Directions (38) : From the given e
rather a3 son whoot 9905 4 peem s e U0 P14
Achyut”. How ts Achyut related e gueation figure ts hidden fembed-

Lo Ramu ? ' : ded. 4. 8 8 12
(il Uncle (2] Cousin 98, guestion figure 129 4
{3 Brother (4] Nephew 0w s 2
Directlons (28-30) : From the T

glver alternatives select the word

which can be formed using the lettera E;;g ﬂli

wen in the word,

glﬁ. GLATE 42 Mrs, Kiran starts from Gandhl

LATY Square, Kolkata, drives her car
gm :i:mL Aaswer figures towands west € kms and turn-
- ing to her right she drives 4 kms,

30. CIRCUMSCRIBE % then again turmis the car to her
(1) TRIBES right and moves 5 kma. How far
(2) BARBER : §s ghe from the starting point 7
[3) SCARE Y] {) 3. 4 (1) 6 kmis (2] 16 kms
[#) CRUMBS '}' mﬂmﬂmrmﬂ@nm 3 4 kma (4} 8 kms
Directions (31-33) : From the which one can be formed from Directions [ 43 - 44): A. B. C.

given alternailves select the word the cut out plecea ghven below D and E are five boys sltting in a circle,

st megvenyod T owatpaa b attag b Dand £

ters to n . \ and E,

31, SIGNIFICANT 43. Who Is sitting to the immediaje
(1) SCANT  [2) FIASCOD left hand side of C?

(3 GIANT (4] FACT A B E;:Il z ﬁg

33. COMMISSIONER _ .

(1] MISSION 44. Who | sltting between B and A7
(2] COMMON (e A E

i3 MISSILE D 14 None=

{d) ‘SIREN ) 48. Which number is corumeon toall

33, If Als coded as 2, B as 3 and 80 @ ' é}:\ = the three geometrical figures ?
on, what is the code for FACE? — |
1) 7246 12] 6245 mooa ®m W
13) B35V {4} 7346
SHFDQ, how shall HORSE be baskn mmm Using the
written in that code ?. E’“‘“ unsoived equa A
n GHRGHHFDI: 4 x5 x6=>0645 .

Ig:gRNQD 587 = 756 "A
{4) GMQRD g*:*g :m_ L3/
Dirsctions a “ﬂ'ﬂﬂh ATIEAET Hixda= i
v (768 - (2) 867 (14 2.5
, Bgure will eamplete the pattern in the 3 6
guestlon figure? - (3) 878 (4] 578 () 14
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46. Which one of the following fig- (1) Cmby I follows
ures repreacnis the relationship (2] Only I follows
ammg Tables, Chairs, Furnl- (3 Baoth I and 10 Gollow

[4) MWeither [ nor 11 falloes

B0 Statement: Private firm

workers are

m hard-working,
Concluslons ;

I, Some hard-working persons

are private firm workers.
ll. Government employees are
N D O [1) EM'I:J." H Ilnw'u
nly I o
47, Whlr:hwnl'ﬂw,fou {2) Only II follows
ur:am;rmr:_h thﬂmhﬂﬂnﬂl'ﬂp {3) Meither [ nor 1 follows
amang Brinal. Meat. Vegetahles? {4) Both T and II follow

u@ .69

~ 0
mi O | @ OO
Directions { 48 - 50) : In the
following queations one/two atate-
ments are given followed by two con-
clusions I and 11, Yo have to conalder
the two statements to be lroe even IF
they seem to be at varlance from com-
monly known. facts, You Have to.de-
cide which of the given conelusions, IF'
any, foltowr from this ghren statements,
48, Statements: ' Some phones
are watchea.
Al watches ar
gures.

Cancloslons :

[. All guns guns are watches.

[I. Some guna ar Phones,

(1) Only I follows -

12} Omly il follows

(3) Either I or II follcras

(4] Mefther [ nor H follows

48, Statement : In schoola,
sidents learn
as they are able
o understand
what & taught

) to them,

Conclusions :

I. Studenta's learning im
schoals. depends upon their
abdllty to fearn.

. Students’ ]nﬂnm-tglnu:]:hquh
depends upon how they are
taught. '
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£ Josh
Answer: General
Intelligence
1| (4) 26 | (2)
2] (3) 27 | (3)
31 (2) 28 | (2)
41 (2) 29 | (4)
51 (3) 30 | (4)
6| (2) 31| (2)
71 (3) 32| (3)
8| (3) 33| (1)
91 (1) 34| (2)
10| (3) 35| (4)
11| (2) 36 | (3)
12| (4) 37 | (2)
13| (1) 38 | (2)
14| (3) 39| (4)
15| (4) 40 | (2)
16 | (1) 41 | (3)
17 | (4) 42 | (3)
18| (1) 43 | (3)
19| (3) 44 | (3)
20| (3) 45 | (4)
21| (3) 46 | (4)
22 | (3) 47 | (3)
23 | (3) 48 | (2)
24| (3) 49 | (3)
25| (3) 50 | (1)




